[image: D:\mine\3. 营销推广\物料制作\图片\logo\文都教育蓝绿logo.png文都教育蓝绿logo]                                 
[image: 小水印]			 世纪文都教育科技集团股份有限公司

2021年6月大学英语六级考试听力答案（第1套）

来源：文都教育
1.D)He is going to leave his present job.
2.A)It should be kept private.
3.B)It may adversely affect his future career prospects,
4.D)Pour out his frustrations on a rate-your-employer website.
5.C)Her latest documentary.
6.C)She had to endure many hardships.
7.A) A hurricane was coming.
8.D)It was fruitful.
9. A) It diminishes laymen's interest in science.
10.B)They tend to disbelieve the actual science
11. D) Do away with jargon terms. 
12.D) There were oil deposits below a local gassy hill.
13. C) The sand under the hill.
14.C)It gave birth to the oil drilling industry.
15.B) it resulted in an oil surplus all over the world. 
16.B) Bad managers.
17.B) oic copy cuture.
18.D)It was based only on the perspective of employees.
19.B) It is bringing prosperity to the region.
20.B)It creates a lot of new jobs.
21.D)They accept it with reservations.
22.C)Their annual death rate is about twice that of the global average.
23.B) They don't reflect the changes in individual countries.
24.C) Many of them have seen a decline in road-death rates.
25. A)Foster better driving behavior.
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1.A)Weird.
2.B) They are ignorant.
3. B) They can air their views.
4. C) It enables people to learn and grow
5. A) He kept looking for the best place to stay.
6.B) Stretch out the process in search of the optimal.
7. C) Modern technology.
8. A) Research as many different options as possible.
9. D) It is not of much help to younger children.
10.A) It may put some students in remote areas at a disadvantage.
11. C) Doing homework exerts a positive effect on kids' personality development.
12.B) It was ridiculed by the New York Times.
13.A) It was of great significance to rocket science.
14.B) Its climate was ideal for year-round rocket launching.
15.C) He was granted over 200 patents in rocket technology.
16.D) It can be rather risky. 
17.C)It reduces conflict among team members.
18.B) They often work without any
19.D) They are better able to survive or handle disease.
20.A) They have a limited reproductive ability.
21.D) The resolution of aging-related diseases will solve the mystery of aging.
22. A) They are reluctant to follow instruction.
23.B )They are not satisfied with the management.
24. C) When they find their supervisors helpful.
25.A) They are a useless tool for managers to change employee behavior.
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